%]
Valve

2018kR

? THREBEHRERAFTRAT
0K & B

Ningbo YiSheng Hydraulic Technical CO; LTD.



B

TREBRBRERARERATDE—FREWVNERERGH I, &
’E RIETEH. ERMMERSLREMI N, AT TEG IR
BEHEX—— TEHTSFXENKI2995  ATEECHEIHG
R —— TR TIEE M,

ANTEBRIIZ2 B, BARAODTRERGHKIT. R £/
TRFEE RS N —EREEaM KEREX, AN R F8YM. T
EAM, As MM BORKESINTL ARZRIRH®ET S
= RS

NERKEBEERE FITE—XHWERITEMIRN, EIMPMNZZET
HEAMFEENTIRRARAR, BERA T HR—Re0E =R 5%,
BERAMEILEFRIE, FHEEATON, CONTITECHZE A F{Ri%E 2]
MECRERAREE, ARl E8E RLEMWBR, WERERS
Mt E~ SRR A ERRTEENLR, FNBPII=5EH
TAEARAITHRIERGRIRFE, EEEHEENSL OS50 68,
WS T KEFNEESEER,

TEBBRBRERARERADKEEZESHE T KB XDXHE,
REARLRBS AZHAMIEREERS T,

THERBEREFEARFGR AT

iﬁ ﬁ ﬁ ﬁ 14: Ningbo YiSheng Hydraullc Technical CO; LTD.

ESNOO



eV T ——B M EER N T

T tom L%

% b # 5

THERBEREFEARFGR AT

Ningbo YiSheng Hydraulic Technical CO; LTD.




UNIFLEX-HM325IB$1 [ E#H1 ' FINN-POWER
FP12041 %41

i
b
A

£

4

e
P \ 1
= o i {
= &

:'\,

"

—

IlTll\ DN SR v Sy
LT TEHL B B

THERBEREFEARFGR AT

Ningbo YiSheng Hydraullc Technical CO; LTD.




HniEeE

eAkiE T

A R T

2

EAmtg

THERBEREFEARFGR AT

iﬁ ﬁ ﬁ ﬁ H: Ningbo YiSheng Hydraullc Technical CO; LTD.

ESNOO



eakiEfT

i ig e

ik idie 6

pEs=l

|

HRE KRR S T

NT FRBERERARERAT
ki # H

Ningbo YiSheng Hydraulic Technical CO; LTD.

ESNOO



| BliI—iEeniE e
VEYS, —RHTIE
ey ot

THERBEREFEARFGR AT

iﬁ ﬁ ﬁ ﬁ 14: Ningbo YiSheng Hydraullc Technical CO; LTD.

ESNOO



..

THERBEREFEARFGR AT

m u ﬁ ﬁ ﬁ‘ Ningbo YiSheng Hydraulic Technical CO; LTD.

ESNOO



IR —1RARE

SREEWBS8I%
<

THEBREREREAFIR LT

~<|>' mKEEY Ningbo YiSheng Hydraulic Technical CO; LTD.

ESNOO



s< CONTETS

R B R B B1~B4
Valve Part No. Index

A R AR BE B5~B8
Technical description of Non-return-valve

L=< 1 B9~B28
Non-return-valve

BRI REBR BRI o, B29~B30
Technical description of Shut-off(isolating) valve

BOIE MR R EK B e B31~B35
Shut-off(isolating) valve

4 B36~B37

Shuttle valve

? FHEBAEREATRAT
W 0K & B

Ningbo YiSheng Hydraulic Technical CO; LTD.



? ikt B E AR IR AT
iﬁ ﬂl ﬁ E H: Ningbo YiSheng Hydraulic Technical CO; LTD.

ESNOO



Valve

B 1] | Non-return-valve

B 247 I HE AN R AU/ e 24° 1 AN IR AL

RV-R-WD
p B10

- RZ-R-WD
p B11

M % 3 MWD % H(1801179)/ % 24" W # Jh B 4

B 2470 3 AN R AU/ U % WD E 3(1S09974)

]

%

RV-M-WD
p B12

RZ-M-WD

p B13

1 4 2% BIWD i 3(1S09974)/ & 524" 19 # A 15 4L

—

i -

# 5 BSPP [N 82 41/ % §i BSPP [y i 4

G

RDI-B
p B14

ESNOO

B1

THERBEREFEARFGR AT

Ningbo YiSheng Hydraulic Technical CO; LTD.




Hﬂ Valve B [ ||l Non-return-valve
B ) i) 7 i Bl ok
— i1 ]
iRl —T = RDJ
_1, p B15
| -—I
B3 E HJIC/E 37 £ HlJIC
e R ="
| N RVJ-R-WD RZJ-R-WD
= . 1 — — —t =
W: p B16 | pB17
- P2
1 3 3 WD B $(1S01179)/ & #37° % HlJIC % 3 37" HIJIC/ B 3 3 MWD % 3 (1S01179)

)

e RVJ-UN + g RZJ-UN
L pB18 LR pB19
HE 35 % WO I8 & 3 (UNUNPY % 5537 % HIJIC B 90375 WJIC/H 5 5% 0T Bl : 3 (UNUNP)
%} 1
RVJ-M-WD - > J ‘ RZJ-M-WD
p B20 = 4 p B21
H 3 20 HIWD % 3(1S09974)/ % 537" % il JIC B 537 3% WlJIC/ K % 20 WWD ¥ 31(1S09974)
THBBEUEHRARERAR

B2

Ningbo YiSheng Hydraulic Technical CO; LTD.




Hﬂ Valve B [ ||l Non-return-valve
B ) i) 7 i Bl ok
= —T R RDF
_J_ \wz3  pB22
% Ui % WORFSYF [ /% U % HIORFSY [
Jd _ RVF-R-WD RZF-R-WD
(I N A AW
S IS B vz —jz P
o 2 WD #(1S01179)/% | ORFS¥ % HORFS¥ [ /# ¥ 3 HWD % 3 (1S01179)
— o q
- RVF-UN b b } RZF-UN
E p B25 i p B26

1 %

% %O I8 % # (UNJUNPY/ % I ORFS ¥ [

% W ORFSF I /# ¥ 5 #I O [l % 33 (UNUNF)

i
S .

1 4 2 /WD

RVF-M-WD
p B27

% $§(1509974)/ % I ORFS ¥ [

3 Wl ORFS Y M /1t ¥ 2 WD % 3§(1S09974)

— — =

Bimlisnli

RZF-M-WD

p B28

B3

TEEBHUEEAFTRAT

Ningbo YiSheng Hydraulic Technical CO; LTD.



I

Valve

D AE W% E Sk

p B33

= [ :
vt od Qe

B4 B 24 24

KHB3K-L
£ WINPT 8 50/ 5INPT I B 4 pB34  KHB3K-S
Qﬁl 0
r J=] _@_}_ KHB3K-G B35
¥ W BSPP [ 8 40/ 3 § BSPP 11y # 41/ 3% I BSPP I # 41
1 W —
Shuttle valve s

&w SF-AF

p B37

% | ORFS/Z il ORFS /% il ORFS

B4

TEEBHUEEAFTRAT

Ningbo YiSheng Hydraulic Technical CO; LTD.




Hﬂ Valve B [ ||l Non-return-valve

RD/RV/RZ 8 [ i) %7 A i3t B

/ RS L
- -
| Pt
i = ! 17 -
| bpa@www
N —
\) /ﬂ ! N N
1 #ERRE
2: EHIN \
3: 43R
A npet 4 3 2 1 6
5 5 [o)il i B
6: EDEIEHE
DN = & E1E (mm) g 2 148 1
e S UNCER 4 i
: \
E ] T ! 4: H#H
8 b = 5. WH
| 6: WD % 3 |8
[ ] [ ] ; i ; DN=ifi i B 72 ( mm)
RD RV RZ

ti it
B H0H B MR ES R SHWERS KA EY. WEARABER, HEFRETSE &Kk,
WEEOE, OO W ) R KR AN 8K/

FER )
TR ior (WETBEN02 05, 2,3, 4. 5. 6. b, WETHHHHLN) . FRENLAE
+20% N % o

UREE
A RE, BHMHTRRRE R AN H, BN RER (CRBABWA RS, 81
ft 5 5 J0SS)

I

ik o

<|> B5 THEEBREERBR AT
Yﬁ 1* lf:E E H: Ningbo YiSheng Hydraulic Technical CO; LTD.

ESNOO



Hﬂ Valve B [ ||} Non-return-valve

RD/RV/RZ & iy i) % A 5 1]

MIBE NP GIME 06LI06+08S; HH54; .
BB 1/8, 1/4; RVP 13: DN 3.5 MBEEZHRLTFNREBERSK/ K
3..
——
.-""—-."f"-.-
4 __...u-"""'"'_“’f
.a-"‘".‘/
1 —t|
0 ;
05 10 15 20 25 30 35 40 45 50
FiE /Imin
|— 1bar FEIHESN |
EHRE T E 8LM0S; HE4,
RVP 16; DN 5.5
3-.
-
2 -_'_'_-_n____,.—,.,_-—""-
"
,..--""""'-F-.F
1
0 .
3 4 5 6 7 8 8 10 11 12
R /min
[— 1bar FEIfEES |
EHPE B9 10L/12S; g4,
= $I AR Lr 3/8; RVP 20; DN 7.5
3_
.--"""'--'-'
.--""""""Hf—
2 e
——
..--""..--""""-'—-—#-
1
0
2 4 6 8 10 12 14 16 18 20
E l/min
[ 1bar RELHEEA |

i B E RS R T
T i B6

Ningbo YiSheng Hydraulic Technical CO; LTD.

ESNOO



I Valve

B 1] | Non-return-valve

RD/RV/RZ & iy i) % A 5 1]

EHE B9 12L/145; #4E8; RVP 24; DN 9.5

| e
--—"'-—’-‘
.-—--"""'-'.'-'-'--.I
|
‘____..--""'-’f—-
5 10 15 20 25 30 35
e I/min
[— 1bar RELIEED |

ENPE EIME 15L/16S; His;
HHINIBLL 1/2; RVP 27; DN 11.5

!
1

5 10 15 20 25 30 35 40 45 50

E I/min

|— 1bar FEIHEH |

EHE B 18L/20S; #4ES;
HFIM4REL 3/4; RVP 35; DN 15.0

10 20 30 40 50 60 70 B0 a0

imE I/min

[— 1bar FRIBESD |

T WK B7

ESNOO

fir B B % ot 3 B0 & I8 K/ K

THREBEHRERAFTRAT

Ningbo YiSheng Hydraulic Technical CO; LTD.



Hﬂ Valve B [ ||} Non-return-valve

RD/RV/RZ & [u) i) #i A % B
EHE BT 22L/258; HHE16; 7] A B 18
el i i B B R A 8k
3 | e
25
L—
2 [ —
15 ——
1
0,5
0
20 40 60 80 100 120 140
iE I/min
[— Tbar AEIHEH |
EhR Bz 28L/I30S; HHH16;
FEHIPELL 11/4; RVP 47; DN 24
3 ] o
2,3 e —

05
0 .
20 40 60 B0 100 120 140 160 180 200 220
s I/min
[— tbar FRIHEH |
EHiE &5 3 35+42L/38S; #4&16;
HHI PR 11/2; RVP 55; DN 29
3-
233 ——-——_ '-__ﬂ____,..--ﬂ"—_
15 1= -
1
05
0
RSE8E8RITIEBEES SIS 8 §
FFFFF o N4 & &N [ o B o |
iiE I/min
[— 1bar ARIfEEH |

? B8 THEBRESERARAT
e iﬁ W ﬁ ﬁ ﬁ: Ningbo YiSheng Hydraulic Technical CO; LTD.



Hﬂ Valve B [ ||l Non-return-valve
e
J]_ _ RD
a = Zlo
@1 L et B4 A R A
o ‘ B i 24° I AN 8 A
—- L2 -—
L1
gy THRea| B TN R+  DIMENSIONS THER (bar)
- g; ETﬁwﬁ TUBE 0.D . - %% -
' T D1 ﬁ’%,flﬂ mg’f\fﬂ 11| L2 | st ﬁiéﬂ mé’;m T (CF T‘(Si’gfﬂ
RD-06L | M12X15 | 6 | 35| 35 |430 200 17 | 17 17 46 | 400 | 250
RD-08L | M14x15 | 8 |55 | 55 | 440|300/ 19 | 19 19 61 | 400 | 250
RD-10L | Mi6X15 | 10 | 75| 75 |550|405]| 22 | 24 24 104 | 400 | 250
RD-12L | M18X15 | 12 | 95| 95 |580|435]| 27 | 30 30 166 | 400 | 250
RD-15L | M22x15 | 15 |11.0| 115 | 620 | 475 | 27 | 32 32 192 | 400 | 250
| RotsL | m2oxts | 18 |140| 140 | 670 | 515 | 36 | 4 4 292 | 400 | 160
RD-22L | M30X2.0 | 22 |180| 180 | 770 | 615 | 41 | 46 46 472 | 250 | 160
RD-28L | M36X2.0 | 28 |230| 230 | 850|695 | 50 | 55 55 746 | 250 | 100
RD-35L | M45x2.0 | 35 [200| 290 | 96.0 | 745 | 55 | 60 60 | 1062 | 250 | 100
RD-42L | M52x2.0 | 42 |290| 290 | 960 | 740 | 65 | 70 70 | 1518 | 250 | 100
RD-06S | M14x15 | 6 | 35| 35 |485|345/| 19 | 19 19 70 | 420 | 400
RD-08S | M16X15 | 8 |35 | 35 | 485|345/ 19 | 19 19 74 | 420 | 400
RD-10S | M18X15 | 10 | 55| 55 |555|405| 22 | 24 24 121 | 420 | 400
RD-12S | M20x15 | 12 |75 | 75 |575|425| 24 | 27 07 148 | 420 | 400
RD-14S | M22x15 | 14 | 95| 95 |640 |475| 27 | 32 32 218 | 420 | 315
S | Roes | maaxis | 16 |110| 115 | 680 | 505 | 32 | 36 36 286 | 420 | 315
RD-20S | M30Xx2.0 | 20 |150| 150 | 760 | 545 | 41 | 50 46 506 | 420 | 250
RD-255 | M36x2.0 | 25 |190| 190 | 830|585 | 50 | 55 50 639 | 420 | 250
RD-30S | M42x2.0 | 30 |240| 240 | 970 [ 695 | 55 | 60 60 | 1157 | 250 | 250
RD-38S | M52x2.0 | 38 |29.0| 290 1080 755 | 65 | 70 70 | 1650 | 250 | 250
<|> B9 TEREREHEAREGR AT
W 1k &% 0

ESNOO

Ningbo YiSheng Hydraulic Technical CO; LTD.




B 1] | Non-return-valve

RV-R-WD

B 5 247N A 5 A
1 % 52 WD & 3§(1S01179)

[ [\ 1A
gaTRED |5 R~ DIMENSIONS THED (ba
ol FhRE g TUBE 0.D %% '
=7 PART NO. i
T T1 pi |on| D3 | L1 | 2| 3| s 52 ' ?’%ﬁ? T‘(Si’z)iﬂ

RV-06LRWD | M12X1.5 | G1/8A 6 3.5 14 350 (280 8 17 17 47 400 | 250

RV-08LRWD | M14X1.5 | G1/4A 8 5.5 19 37.0 | 30.0 | 12 19 19 62 400 | 250

RV-10LRWD | M16X1.5 | G1/4A 10 7.5 19 46.0 | 38.5 | 12 22 24 105 400 | 250

RV-12LRWD | M18X1.5 | G3/8A 12 9.5 22 50.0 | 425 | 12 27 30 175 400 | 250

RV-15LRWD | M22X1.5 | G1/2A 15 15| 27 53.0 | 455 | 14 27 32 205 400 | 250

. RV-18LRWD | M26X1.5 | G1/2A 18 140 27 58.0 | 50.0 | 14 36 41 294 400 | 160
RV-22LRWD | M30X2.0 | G3/4A 22 180 | 32 63.0 | 55.0 | 16 41 46 450 250 | 160
RV-28LRWD | M36X2.0 G1A 28 23.0( 40 71.0 1 63.0 | 18 50 95 720 250 | 100
RV-35LRWD | M45X2.0 | G1.1/4A 35 29.0( 50 80.0 | 69.0 | 20 55 60 1050 | 250 | 100
RV-42LRWD | M52X2.0 | G1.1/2A 42 29.0 55 80.0 | 68.5 | 22 65 70 1560 | 250 | 100
RV-06SRWD | M14X1.5 | G1/4A 6 3.5 19 385|315 | 12 19 19 73 420 | 400
RV-08SRWD | M16X1.5 | G1/4A 8 3.5 19 385|315 | 12 19 19 79 420 | 400
RV-10SRWD | M18X1.5 | G3/8A 10 5.5 22 455 | 38.0 [ 12 22 24 132 420 | 400
RV-12SRWD | M20X1.5 | G3/8A 12 7.5 22 485 | 41.0 [ 12 24 27 153 420 | 400

s RV-14SRWD | M22X1.5 | G1/2A 14 9.5 27 53.0 | 445 | 14 27 32 230 420 | 315

RV-16SRWD | M24X1.5 | G1/2A 16 15| 27 57.0 | 48.0 | 14 32 36 293 420 | 315

RV-20SRWD | M30X2.0 | G3/4A 20 15.0| 32 63.0 | 52.0 | 16 41 50 511 420 | 250

RV-25SRWD | M36X2.0 G1A 25 19.0| 40 66.5 | 545 | 18 46 55 648 420 | 250

RV-30SRWD | M42X2.0 | G1.1/4A 30 240 50 78 | 64.0 [ 20 60 60 1176 | 250 | 250

RV-38SRWD | M52X2.0 | G1.1/2A 38 29.0 55 86 | 69.5 | 22 65 70 1624 | 250 | 250

TEREREEAFTR AT
T i B10

Ningbo YiSheng Hydraulic Technical CO; LTD.

ESNOO




ESNOO

Hﬂ Valve B Ji) i§ Non-return-valve
52 51
P X
: = RZ-R-WD
3|z | = | 5 F 5 3% HIWD % 3(1S01179)/
Sl b I ® B U249 AR A
s >
T 1 L2
. E]
gutRer |8 M R+  DIMENSIONS THFFE ) ( bar
3 ;;EJTKN? TUBE 0.D }%%L T
' T T1 DI | DN| D3 | L1 | L2 | L3 | st S2 < | s
RZ-0BLRWD | M12X1.5 | G1/8A 6 |35| 14 |[335|25]| 8 | 17 | 17 44 | 400 | 250
RZ-08LRWD | M14X1.5 | G1/4A 8 |55| 19 |[355[285/| 12 | 19 | 19 59 | 400 | 250
RZ-10LRWD | M16X1.5 | G1/4A | 10 | 75| 19 |460|385| 12 | 22 | 24 | 125 | 400 | 250
RZ-12LRWD | M18X1.5 | G3/8A | 12 | 95| 22 [480|405| 12 | 27 | 30 | 161 | 400 | 250
RZ-15LRWD | M22X1.5 | G1/2A | 15 |115| 27 |500|425| 14 | 27 | 32 | 18 | 400 | 250
RZ-18LRWD | M26X1.5 | G1/2A | 18 |140| 27 |560|480| 14 | 36 | 4 275 | 400 | 160
RZ-22LRWD | M30X2.0 | G3/4A | 22 |[18.0| 32 |640|560| 16 | 41 46 | 463 | 250 | 160
RZ-28LRWD | M36X2.0 | G1A 28 |230| 40 |720(640| 18 | 50 | 55 | 721 | 250 | 100
RZ-35LRWD | M45X2.0 | G1.1/4A | 35 |29.0| 50 |[81.0|700| 20 | 55 | 60 | 1073 | 250 | 100
RZ-42LRWD | M52X2.0 | G1.1/2A | 42 |290| 55 |[820|705| 22 | 65 | 70 | 1602 | 250 | 100
RZ-06SRWD | M14X1.5 | G1/4A 6 |35| 19 [385[315] 12 | 19 | 19 71 | 420 | 400
RZ-08SRWD | M16X1.5 | G1/4A 8 35| 19 [385[315] 12 | 19 | 19 74 | 420 | 400
RZ-10SRWD | M18X1.5 | G3/8A | 10 |55 | 22 |455|380| 12 | 22 | 24 | 128 | 420 | 400
RZ-12SRWD | M20X1.5 | G3/8A | 12 |75 | 22 |485|410| 12 | 24 | 27 | 152 | 420 | 400
RZ-14SRWD | M22X1.5 | Gi/2A | 14 |95 | 27 |520|435| 14 | 27 | 32 | 223 | 420 | 315
RZ-16SRWD | M24X1.5 | Gi/2A | 16 |[115| 27 |550|460| 14 | 32 | 36 | 275 | 420 | 315
RZ-20SRWD | M30X2.0 | G3/4A | 20 [150| 32 |61.0 500 | 16 | 41 50 | 490 | 420 | 250
RZ-25SRWD | M36X2.0 | G1A 25 |190| 40 |67.0(545| 18 | 50 | 55 | 647 | 420 | 250
RZ-30SRWD | M42X2.0 | G1.1/4A | 30 |[240| 50 |780|640| 20 | 55 | 60 | 1180 | 250 | 250
RZ-38SRWD | M52X2.0 | G1.1/2A | 38 [29.0| 55 |880|715| 22 | 65 | 70 | 1670 | 250 | 250
<|> B11 THRBHEREARFTRAT
W K& % B

Ningbo YiSheng Hydraulic Technical CO; LTD.




B 1] | Non-return-valve

ESNOO

RV-M-WD
_ % A*"*zm'f&%w/
S g 1 3 2 WD % 3§(1S09974)
'I

gaReD BN R+ DIMENSIONS T ( bar
3 ;;EJTKN? TUBE 0.D }%%L T
' T T1 DI |DN| D3 | L1 | L2 ]| L3 | st S2 ch | s
RV-06LMWD| M12X1.5 | M10X1.0 | 6 |35 | 14 |[350[280| 8 | 17 | 17 46 | 400 | 250
RV-08LMWD| M14X1.5 | Mi2x1.5 | 8 | 55| 17 |360|280| 12 | 19 | 19 58 | 400 | 250
RV-10LMWD | M16X1.5 | M14X15 | 10 | 75| 19 |455(385| 12 | 22 | 24 | 108 | 400 | 250
RV-12LMWD | M18X1.5 | M16X15 | 12 | 95| 22 |495|425| 12 | 27 | 30 | 173 | 400 | 250
RV-15LMWD | M22X1.5 | M18X15 | 15 |115| 24 |525|455| 12 | 27 | 32 | 192 | 400 | 250
RV-18LMWD | M26X1.5 | M22x15 | 18 |140| 27 |56.0 500 | 14 | 36 | 41 298 | 400 | 160
RV-22LMWD | M30X2.0 | M26X15 | 22 |180| 32 |[64.0(550| 16 | 41 46 | 446 | 250 | 160
RV-28LMWD | M36X2.0 | M33X2.0 | 28 |23.0| 40 |[720|630| 18 | 50 | 55 | 722 | 250 | 100
RV-35LMWD| M45X2.0 | M42x2.0 | 35 |29.0| 50 |81.0[69.0| 20 | 55 | 60 | 1053 | 250 | 100
RV-42LMWD| M52X2.0 | M48X2.0 | 42 |29.0| 55 |820|685| 22 | 65 | 70 | 1563 | 250 | 100
RV-06SMWD| M14X1.5 | M12x1.5 | 6 |35 | 17 |385|315| 12 | 19 | 19 70 | 420 | 400
RV-08SMWD| M16X1.5 | M14x15| 8 | 35| 19 [385|315| 12 | 19 | 19 76 | 420 | 400
RV-10SMWD| M18X1.5 | M16X15 | 10 |55 | 22 |[455(380| 12 | 22 | 24 | 124 | 420 | 400
RV-12SMWD| M20X1.5 | M18X15 | 12 | 75| 24 [485|410| 12 | 24 | 27 | 157 | 420 | 400
RV-14SMWD| M22X1.5 | M20X15 | 14 |95 | 26 |525|445| 14 | 27 | 32 | 215 | 420 | 315
RV-16SMWD| M24X1.5 | M22Xx15 | 16 |115| 27 |550|480| 14 | 32 | 36 | 296 | 420 | 315
RV-20SMWD| M30X2.0 | M27X2.0 | 20 |[15.0| 32 |61.0|520| 16 | 41 50 | 521 | 420 | 250
RV-25SMWD| M36X2.0 | M33X2.0 | 25 |[19.0| 40 |67.0|545| 18 | 46 | 55 | 648 | 420 | 250
RV-30SMWD| M42x2.0 | M42x2.0 | 30 |240| 50 |[78.0|640| 20 | 60 | 60 | 1178 | 250 | 250
RV-38SMWD| M52X2.0 | M48x2.0 | 38 |29.0| 55 |[88.0|695| 22 | 65 | 70 | 1627 | 250 | 250

<|> B12 THRBHEREARFTRAT

W K& % B

Ningbo YiSheng Hydraulic Technical CO; LTD.




ESNOO

Hﬂ Valve B [ ||l Non-return-valve
52 &1
s RZ-M-WD
i — H N HWD % $(1S09974)/
E.:EEL . " & iy 24° I’q’fﬁﬁl*!l!ﬁ&?l
s SNE
M s | L2 N
o L s
gyee |5 ME R+ DIMENSIONS T (bar
3 ;;EJTKN? TUBEO.D ETT E/%L .
' T T1 ot "o | Ton | L | | | st s2 |~ i’%g T‘(S’gfﬂ
RZ-06LMWD| M12X15 | M10X1.0 | 6 |35| 35 [335[25/| 8 | 17 | 17 44 | 400 | 250
RZ-08LMWD| M14X15 | M12x15| 8 |55 | 55 [355[285/| 12 | 19 | 19 58 | 400 | 250
RZ-10LMWD| M16X15 | M14X15 | 10 | 75| 75 |455(385| 12 | 22 | 24 | 104 | 400 | 250
RZ-12LMWD| M18X15 | Mi6X15 | 12 | 95| 95 |475[405| 12 | 27 | 30 | 169 | 400 | 250
RZ-15LMWD| M22X1.5 | M18X15 | 15 |115| 115 [495[425| 12 | 27 | 32 | 174 | 400 | 250
RZ-18LMWD| M26X1.5 | M22X15 | 18 |14.0| 140 |555 (480 14 | 36 | 41 279 | 400 | 160
RZ-22LMWD| M30X2.0 | M26X15 | 22 |18.0| 18.0 |635 (560 | 16 | 41 46 | 459 | 250 | 160
RZ-28LMWD| M36X2.0 | M33X2.0 | 28 |23.0| 230 |715(640| 18 | 50 | 55 | 721 | 250 | 100
RZ-35LMWD | M45X2.0 | M42x2.0 | 35 |29.0| 290 [805|70.0| 20 | 55 | 60 | 1078 | 250 | 100
RZ-42LMWD| M52X2.0 | M48X2.0 | 42 |29.0| 290 |815|705| 22 | 65 | 70 | 1601 | 250 | 100
RZ-06SMWD| M14X15 | M12x15| 6 | 35| 35 [385[315| 12 | 19 | 19 70 | 420 | 400
RZ-08SMWD| M16X1.5 | M14X15| 8 |35 | 35 [385[315/| 12 | 19 | 19 75 | 420 | 400
RZ-10SMWD| M18X1.5 | M16X15 | 10 |55 | 55 [455(380| 12 | 22 | 24 | 123 | 420 | 400
RZ-12SMWD| M20X1.5 | M18X15 | 12 | 75| 75 [485|41.0| 12 | 24 | 27 | 157 | 420 | 400
RZ-14SMWD| M22X1.5 | M20X15 | 14 | 95| 95 |[515(435| 14 | 27 | 32 | 214 | 420 | 315
RZ-16SMWD | M24X1.5 | M22x15 | 16 |115| 115 [545(460| 14 | 32 | 36 | 279 | 420 | 315
RZ-20SMWD | M30X2.0 | M27x2.0 | 20 |150| 150 |[605 (500 | 16 | 41 50 | 487 | 420 | 250
RZ-25SMWD| M36X2.0 | M33%2.0 | 25 |19.0| 190 |68.0 |545| 18 | 50 | 55 | 647 | 420 | 250
RZ-30SMWD | M42X2.0 | M42x2.0 | 30 |24.0| 240 |[775|640| 20 | 55 | 60 | 1180 | 250 | 250
RZ-38SMWD | M52X2.0 | M48X2.0 | 38 |29.0| 290 |875|715| 22 | 65 | 70 | 1669 | 250 | 250
<|> B13 THRBHEREARFTRAT
W K& % B

Ningbo YiSheng Hydraulic Technical CO; LTD.




B 1] | Non-return-valve

RDI-B
-+ H
% #| BSPP iy #8 41/
™ - e H
a 2 # il BSPP [§ 12 4
T
i 41 THREAD R DIMENSIONS THED (bar)
F i it 5 o
PART NO. /1 "
Ti DN D1 L1 L2 L3 S1 2 ” i 4 (CF) I(é’é)iﬂ
RDI-B02 G1/8A 35 19 425 | 120 | 80 19 19 76 400 | 400
RDI-B04 G1/4A 35 19 510 | 160 | 120 19 19 82 400 | 400
RDI-B06 G3/8A 75 24 600 | 17.0 | 120 24 27 157 400 | 400
RDI-B08 G1/2A 115 32 720 | 200 | 150 32 36 344 315 315
RDI-B12 G3/4A 15.0 4 840 | 220 | 165 41 46 664 250 250
RDI-B16 G1A 19.0 46 950 | 255 | 19.0 46 50 821 950 250
RDI-B20 G1.1/4A 24.0 60 | 1100 | 280 | 215 60 60 1581 950 250
RDI-B24 G1.1/2A 29.0 65 | 1140 | 285 | 220 65 70 1919 950 950
? B14 THEEELEEATR AT
WK EE Y

ESNOO

Ningbo YiSheng Hydraulic Technical CO; LTD.




Hﬂ Valve B [ ||l Non-return-valve

s1 $2
a — —
j |ﬂ BOQIGOI TF RDJ
= o
\]_l \ / J/ BT E HJIC/
' " / \ 2 37 % 8 IC
L2 \ ] L2
L1

. i 4 THREAD R~ DIMENSIONS _ | THEH (ban

s %iz;‘[
PART NO. WM | ANEW B S Fi! 5/ N5
T1 o o L1 L2 S1 S o B 4 (CF) (S)
RDJ-04 7/16" —20UNF 35 3.5 51.0 | 14 17 17 17 51 400 | 250
RDJ-05 1/2" -20UNF 3.5 3.5 52.0 14 17 17 17 60 400 250
RDJ-06 9/16” -18UNF 75 75 612 | 141 | 19 19 19 116 400 | 250
RDJ-08 3/4" -16UN 10.0 10.0 714 16.7 27 30 30 182 400 250
RDJ-10 7/8" —14UN 120 120 | 816 | 193 | 27 32 32 214 400 | 250
RDJ-12 1.1/16” -12UN 150 150 | 928 | 219 | 36 41 41 317 400 | 160
RDJ-16 1.5/16” -12UN 215 | 215 |1032 | 231 | 50 55 55 502 250 | 160
RDJ-20 1.5/8” ~12UN 275 | 275 | 1126 243 | 60 65 65 781 250 | 100
RDJ-24 1.7/8" -12UN 200 | 290 |119.0| 275 | 65 70 70 1107 | 210 | 100

TEREREEAFTR AT
T i B15

Ningbo YiSheng Hydraulic Technical CO; LTD.

ESNOO




Hﬂ Valve B [ ||l Non-return-valve

S1 S2
Yo " RVJ-R-WD
2 o | RE H 3 S WD % $(1S01179)/
I D AT XU
/ \
\ / L2
L3 L1
i 4] THREAD R~  DIMENSIONS THED (bar)
s %E
PART NO. T1 T2 pN [ o1 |t | e | 1| st s i g g1 cpy N AW

(SS)

RVJ-04RWD 716" -20UNF G1/8A 3.5 14 41 14 8 17 17 50 400 250

RVJ-05RWD 1/2" -20UNF G1/8A 3.5 14 43 14 8 17 17 64 400 250

RVJ-06RWD 9/16” -18UNF G1/4A 7.5 19 | 51.6 | 1441 12 19 19 115 400 250

RVJ-08RWD 3/4" -16UN G3/8A | 10.0 [ 22 | 60.7 | 16.7 | 12 27 30 217 400 250

RVJ-10RWD 7/8" -14UN G1/2A | 120 | 27 | 683 | 193 | 14 27 32 316 400 160

RVJ-12RWD 1.1/16” -12UN G3/4A [ 150 | 32 | 739 | 219 | 16 41 41 468 250 160

RVJ-16RWD 1.5/16” -12UN G1A 215 | 40 | 83.1 | 231 18 50 95 739 250 100

RVJ-20RWD 1.5/8" -12UN G1.1/4A [ 275 | 50 | 91.8 | 243 | 20 60 65 1090 250 100

RVJ-24RWD 1.7/8" -12UN G1.1/2A | 29.0 | 55 95 | 275 | 22 65 70 1596 250 100

TEREREEAFTR AT
T i B16

Ningbo YiSheng Hydraulic Technical CO; LTD.

ESNOO



Hﬂ Valve B [ ||l Non-return-valve

S1 S2
SR
— %ﬁ L RZJ-R-WD

—
\L . 1 37 E i ﬁJJIC/
\

T

H % WD & H(1501179)

> .~ S
| A
DN
T2
@D1

)
L2
B o L1 L3
- % 4 THREAD R5f DIMENSIONS o | LfEED (ban
5 % iE;F
PART NO. i/
T1 T2 DN | D1 L1 L2 3 | S1 | S2 % i (CF 3

(SS)

RZJ-04RWD 716" -20UNF G1/8A 3.5 14 | 395 | 14 8 17 17 49 400 250

RZJ-05RWD 1/2" -20UNF G1/8A 3.5 14 | 415 | 14 8 17 17 65 400 250

RZJ-06RWD 9/16” -18UNF G1/4A 7.5 19 | 51.6 | 1441 12 19 19 137 400 250

RZJ-08RWD 3/4" -16UN G3/8A | 10.0 | 22 | 557 | 16.7 | 12 27 30 177 400 250

RZJ-10RWD 7/8" -14UN G1/2A | 120 | 27 | 603 | 193 | 14 27 32 208 400 160

RZJ-12RWD 1.1/16” -12UN G3/4A [ 150 | 32 | 669 | 21.9 | 16 36 41 300 250 160

RZJ-16RWD 1.5/16” -12UN G1A 215 | 40 | 841 | 231 18 50 95 751 250 100

RZJ-20RWD 1.5/8" -12UN G1.1/4A | 275 | 50 | 928 | 243 | 20 60 65 1108 250 100

RZJ-24RWD 1.7/8" -12UN G1.1/2A | 29.0 | 55 | 97.0 | 275 | 22 65 70 1647 250 100

TEREREEAFTR AT
T i B17

Ningbo YiSheng Hydraulic Technical CO; LTD.

ESNOO



Hﬂ Valve B Ji) i§ Non-return-valve
S1 S2
N Gl e ! RVJ-UN
5 o T |- H38 3 WO B % 3 UNUNFY
M \ U/ & 7% HJIC
/ '
/w2
L3 L1
= p s % 4] THREAD R~ DIMENSIONS . THER (bar)
PART NO. T T2 on [ ot || e | e s | s | P ke T‘(S%f”
RVJ-04UN |7/16" -20UNF |7/16” —20UNF | 35 | 17 | 480 | 14 | 9 | 17 | 17 | 50 | 400 | 250
RVJ-05UN [1/2” -20UNF  |1/2" -20UNF | 35 | 17 | 490 | 14 | 9 | 17 | 17 | 64 | 400 | 250
RVJ-06UN |9/16" —18UNF |9/16" —18UNF | 7.5 | 19 | 596 | 141 | 10 | 19 | 19 | 115 | 400 | 250
RVJ-08UN |3/4” —16UN |3/ —16UN | 10.0 | 24 | 687 [ 167 | 11 | 27 | 30 | 217 | 400 | 250
RVJ-10UN |7/8” -14UN  |7/8" -14UN | 120 | 27 | 780 | 193 | 127 | 27 | 32 | 316 | 400 | 160
RVJ-12UN [1.1/16” —12UN |1.1/16” —12UN | 15.0 | 32 | 889 [ 219 | 15 | 36 | 41 | 468 | 250 | 160
RVJ-16UN [1.5/16” ~12UN |1.5/16” —12UN | 21.5 | 40 | 981 [ 231 | 15 | 50 | 55 | 739 | 250 | 100
RVJ-20UN |15/8” -12UN  |15/8” —12UN | 27.5 | 50 |106.8| 243 | 15 | 60 | 65 | 1090 | 250 | 100
RVJ-24UN [1.7/8" —12UN  |1.7/8" -12UN | 29.0 | 55 |1100| 275 | 15 | 65 | 70 | 1596 | 250 | 100
<P 818 FHBBERERRERAT
W 1k &% 0

ESNOO

Ningbo YiSheng Hydraulic Technical CO; LTD.



Hﬂ Valve B [ ||l Non-return-valve

$1 \ 52

_ /7" eeeear_‘ : 1 ! RZJ_UN
g | B 337 % HJIC
1N 4 | i3 % WO I8 3 UNUND
f
T =
L1 L3
: 34 THREAD R DIMENSIONS | THED (ban
= 5 % 8
PART 10 T T2 on [ ot | v e | e st | s | M e T*( Sf?%; )iﬂ

RZJ-04UN | 7/16” -20UNF | 7/16” -20UNF | 3.5 17 | 48.0 | 14 9 17 17 49 400 250

RZJ-05UN 1/2" -20UNF | 1/2" -20UNF | 3.5 17 | 49.0 | 14 9 17 17 65 400 250

RZJ-06UN | 9/16” -18UNF | 9/16" -18UNF | 7.5 19 | 59.6 | 14.1 10 19 19 137 400 250

RZJ-08UN 3/4" -16UN 3/4" -16UN | 10.0 [ 24 | 68.7 | 16.7 | 11 27 30 177 400 250

RZJ-10UN 7/8" -14UN 7/8" -14UN | 120 | 27 | 78.0 | 193 | 127 | 27 32 208 400 160

RZJ-12UN | 1.1/16” -12UN |1.1/16” -12UN| 15.0 | 32 | 889 [ 219 | 15 36 41 300 250 160

RZJ-16UN | 1.5/16” -12UN |1.5/16" -12UN| 21.5 | 40 | 98.1 | 231 15 50 55 751 250 100

RZJ-20UN | 1.5/8" -12UN | 1.5/8" -12UN | 27.5 | 50 |[106.8 | 24.3 | 15 60 65 1108 250 100

RZJ-24UN | 1.7/8" -12UN | 1.7/8" -12UN | 29.0 | 55 [110.0| 275 | 15 65 70 1647 250 100

TEREREEAFTR AT
T i B19

Ningbo YiSheng Hydraulic Technical CO; LTD.

ESNOO



Hﬂ Valve B [ ||l Non-return-valve
S1 S2
- RVJ-M-WD
rrrey = NN 1 3% 2\ HIWD % #(1S09974)/
= 1L s - B 337 % HIC
/ \
/12
L3 L1
‘ I 41 THREAD R~ DIMENSIONS o | LEED (ban)
s % %F
PART NO. / "
Ti T2 DN | Dt | 1 |2 | 3| st | s2 | 7 M T‘(Sﬁgfﬂ
RVJ-04MWD | 7/16” —20UNF | M10X1.0 | 35 | 14 | 410 | 14 | 8 | 17 | 17 50 400 | 250
RVJ-05MWD | 1/2" —20UNF | Mi2x15 | 35 | 17 |470 | 14 | 12 | 17 | 17 64 400 | 250
RVJ-0BMWD | 916" —18UNF | M14x15 | 75 | 19 | 516 | 141 | 12 | 19 | 19 | 115 | 400 | 250
RVJ-0SMWD | 3/4” -16UN | Miex15 | 100 | 22 | 607 | 167 | 12 | 27 | 30 | 217 | 400 | 250
RVJ-1OMWD | 7/8” -14UN | M22x15 | 120 | 27 | 683 | 193 | 14 | 27 | 32 | 316 | 400 | 160
RVJ-12MWD | 1.1/16” —12UN | M27x2.0 | 150 | 32 | 739 | 219 | 16 | 41 | 41 468 | 250 | 160
RVJ-16MWD | 15/16” -12UN | M33x2.0 | 215 | 40 | 831|231 | 18 | 50 | 55 | 739 | 250 | 100
RVJ-20MWD | 15/8” —12UN | M42x2.0 | 275 | 50 | 918 | 243 | 20 | 60 | 65 | 1000 | 250 | 100
RVJ-24MWD | 1.7/8" —12UN | M48x2.0 | 290 | 55 | 950 | 275 | 22 | 65 | 70 | 1596 | 250 | 100
? B20 THEREMNEEAFTR AT
WK EE Y

ESNOO

Ningbo YiSheng Hydraulic Technical CO; LTD.




Hﬂ Valve B [ ||l Non-return-valve

S1 /\ YSZ
— %ﬁ — RZJ-M-WD
S I () i w 2~ 3 B 33T % WJIC/
\L \ 4 J F 3% 2 WD % $(1509974)
)
L1 L3
‘ % 4 THREAD R~  DIMENSIONS THED (bar)
F i it L
PART NO. T1 T2 DN | DI | L1 | 2 | 13 | st | s2 IR g g1 cpy N AW

(SS)

RZJ-04MWD | 7/16” -20UNF M10X1.0 3.5 14 | 395 | 14 8 17 17 49 400 250

RZJ-05MWD | 1/2" -20UNF M12X1.5 3.5 14 | 455 | 14 12 17 17 65 400 250

RZJ-06MWD | 9/16” -18UNF M14X1.5 7.5 19 | 51.6 | 1441 12 19 19 137 400 250

RZJ-08MWD | 3/4” -16UN M16X1.5 100 | 22 | 55.7 | 16.7 | 12 27 30 177 400 250

RZJ-10MWD | 7/8" -14UN M22X1.5 120 | 27 | 603 | 193 | 14 27 32 208 400 160

RZJ-12MWD | 1.1/16” -12UN M27X2.0 150 | 32 | 669 | 21.9 | 16 36 41 300 250 160

RZJ-16MWD | 1.5/16” -12UN M33X2.0 215 | 40 | 841 | 231 18 50 99 751 250 100

RZJ-20MWD | 1.5/8" -12UN M42X2.0 275 | 50 | 928 [ 243 | 20 60 65 1108 250 100

RZJ-24MWD | 1.7/8" -12UN M48X2.0 29.0 [ 55 [ 97.0 [ 275 | 22 65 70 1647 250 100

? THREBEHRERAFTRAT
0K & B

821 Ningbo YiSheng Hydraulic Technical CO; LTD.

ESNOO



Hﬂ Valve B [ ||l Non-return-valve

S1 S2
0000 \d
_ rH ZL‘ RDF
— T al -
% % = HIORFS¥ 1 /
7 1 % Ui = W ORFS¥ M
L2 \ /] L2
L1

, i# 41 THREAD R} DIMENSIONS o | DHEES (bar)

e gg
PART NO. B K BN maw | rEm | R R EM
T DN DN L1 L2 S1 5o 5o i 3 (CF) (SS)
RDF-04 9/16” -18UNF 3.5 3.5 43 10 19 19 19 51 400 250
RDF-06 11/16” -16UN 6.5 6.5 55 11 22 24 24 116 400 250
RDF-08 13/16” -16UN 95 9.5 04 13 24 27 27 182 400 250
RDF-10 17 -14UNS 12.0 12.0 74 15.5 32 36 36 214 400 250
RDF-12 1.3/16” -12UN 15.0 15.0 83 17 41 50 50 317 400 160
RDF-16 1.7/16” -12UN 20.5 20.5 92 17.5 50 55 55 502 250 160
RDF-20 1.11/16” -12UN 26.0 26.0 99 17.5 55 60 60 781 250 100
RDF-24 2" -12UN 29.0 29.0 99 175 65 70 70 1107 210 100

TEREREEAFTR AT
T i B22

Ningbo YiSheng Hydraulic Technical CO; LTD.

ESNOO




Valve

B 1] | Non-return-valve

S1 \{82
T " N RVF-R-WD
a;eoaar ‘ - N
= (s | = - i 35 5 WD B $(1S01179)/
I E f E U % HORFS T [
— O/
L3 X L2
‘ % 4 THREAD R5f DIMENSIONS o | LfEED (ban
s % iz;lﬁ
PART NO. / "
T1 T2 DN | Dt | 1 |2 | 3| st | s2 | 7 M T‘(Sﬁgfﬂ
RVF-04RWD | 9/16” -18UNF Gi/s8A | 35 | 14 |37.0] 10 | 8 | 17 | 19 50 400 | 250
RVF-06RWD | 11/16” -16UN GI/4A | 65 | 19 |48.5| 11 | 12 | 19 | 24 | 115 | 400 | 250
RVF-08RWD | 13/16” —16UN G3/8A | 95 | 22 |57.0| 13 | 12 | 27 | 27 | 217 | 400 | 250
RVF-10RWD | 17 -14UNS GleA | 120 | 27 |ea.5| 155 | 14 | 32 | 36 | 316 | 400 | 160
RVF-12RWD | 1.3/16” -12UN G3/4A | 150 | 32 |69.0| 17 | 16 | 41 | 50 | 468 | 250 | 160
RVF-16RWD | 1.7/16” -12UN GIA | 205 | 40 | 775|175 | 18 | 50 | 55 | 739 | 250 | 100
RVF-20RWD | 1.11/16” —12UN | G1.1/4A | 260 | 50 [85.0| 175 | 20 | 60 | 60 | 1090 | 250 | 100
RVF-24RWD | 27 —12UN G1.1/2A | 290 | 55 |85.0| 175 | 22 | 65 | 70 | 1596 | 250 | 100
? B23 THEREMNEEAFTR AT
WK EE Y

ESNOO

Ningbo YiSheng Hydraulic Technical CO; LTD.




B 1] | Non-return-valve

RZF-R-WD
= 2 % HORFS 1 /

it U 3 WD % 3(1S01179)

s % 4] THREAD R~ DIMENSIONS . THER (bar)

PART NO. T1 T2 DN | DI | Lt | L2 | L8 | S1 | S2 i i 5 (CF T‘(S%f”
RZF-04RWD | 9/16” -18UNF GI/8BA | 35 | 14 [35.5]| 10 8 17 | 17 49 400 | 250
RZF-06RWD | 11/16” -16UN GI/4A | 65 | 19 [48.5| 11 | 12 | 22 | 24 137 | 400 | 250
RZF-08RWD | 13/16” -16UN G3/8A | 95 | 22 [52.0| 13 | 12 | 24 | 27 177 | 400 | 250
RZF-10RWD | 1" -14UNS G1/2A | 120 | 27 [56.5| 155 | 14 | 32 | 36 | 208 | 400 | 160
RZF-12RWD | 1.3/16” -12UN G3/4A | 150 | 32 |62.0| 17 | 16 | 41 | 50 | 300 250 | 160
RZF-16RWD | 1.7/16” -12UN GIA | 205 | 40 [78.5[175 | 18 | 50 | 55 | 751 250 | 100
RZF-20RWD | 1.11/16" -12UN | G1.1/4A | 260 | 50 |86.0| 175 | 20 | 55 | 60 | 1108 | 250 | 100
RZF-24RWD | 2" -12UN G1.1/2A | 290 | 55 [87.0| 175 | 22 | 65 | 70 | 1647 | 250 | 100

<|> e B24 THEREEREEAER AT

R $ R

ESNOO

Ningbo YiSheng Hydraulic Technical CO; LTD.




B 1] | Non-return-valve

! RVF-UN
a 1T o 5 #0733 (UNJUNFY
X 1 ORFS ¥ M
i 41 THREAD R~  DIMENSIONS THED (bar)
s % &
PART NO. T1 T2 DN | DI | L1 | 2 | 13 | st | s2 IR w g cp| * B

(SS)

RVF-04UN | 9/16” -18UNF |7/16” -20UNF | 3.5 17 | 44.0 | 10 9 17 19 50 400 250

RVF-06UN | 11/16” -16UN |9/16” -18UNF | 6.5 19 [56.5 | 11 10 19 24 115 400 250

RVF-08UN | 13/16” -16UN |3/4” -16UN 9.5 24 165.0 | 13 1 24 27 217 400 250

RVF-10UN | 17 -14UNS 7/8" -14UN 120 | 27 | 74.2 | 155 | 127 | 32 36 316 400 160

RVF-12UN | 1.3/16” -12UN |1.1/16” -12UN | 15.0 [ 32 |[84.0 | 17 15 41 50 468 250 160

RVF-16UN | 1.7/16” -12UN |1.5/16” -12UN [ 20.5 | 40 | 92.5| 175 | 15 50 55 739 250 100

RVF-20UN | 1.11/16” -12UN|1.5/8” -12UN [ 26.0 | 50 |100.0| 17.5 | 15 60 60 1090 250 100

RVF-24UN | 2" -12UN 1.7/8" -12UN | 29.0 | 55 |100.0| 17.5 | 15 65 70 1596 250 100

? B25 TEREREEAFTR AT
0K & Ningbo YiSheng Hydraulic Technical CO; LTD.

ESNOO



Hﬂ Valve B [ ||l Non-return-valve
S1 S2
T ' ! RZF-UN
‘ OIOQGQ
= 1 ' %T*: & % Tl ORFS¥ i /
\ i 35 £ HOW B % Hununp
/
L2 | \ _
: L1 L3
‘ % 41 THREAD R5f DIMENSIONS o | LfEED (ban
Pt %iz;r
PART NO. / -
T1 T2 DN | D1 | U | 2| | st |s2| T [mumcr T‘(Sﬁgfﬂ
RZF-04UN | 9/16” -18UNF | 7/16” —20UNF | 35 | 17 | 44 | 10 | 9 | 19 | 19 49 400 | 250
RZF-06UN | 11/16” -16UN | 9/16” -18UNF | 65 | 19 |56.5| 11 | 10 | 22 | 24 | 137 | 400 | 250
RZF-08UN | 13/16” -16UN | 3/4" —16UN | 95 | 24 | 65 | 13 | 11 | 24 | 27 | 177 | 400 | 250
RZF-10UN | 17 -14UNS 7/8 ~14UN | 12.0 | 27 |74.2| 155 | 127 | 32 | 36 | 208 | 400 | 160
RZF-12UN | 1.3/16” —12UN |1.446” —12UN| 150 | 32 | 84 | 17 | 15 | 41 | 50 | 300 | 250 | 160
RZF-16UN | 1.716” —12UN |1.5146" —12UN| 205 | 40 |92.5| 175 | 15 | 50 | 55 | 751 | 250 | 100
RZF-20UN | 1.11/16” —12UN| 1.5/8 —12UN | 260 | 50 | 100 | 175 | 15 | 55 | 60 | 1108 | 250 | 100
RZF-24UN | 2" -12UN 1.7/8" ~12UN | 29.0 | 55 | 100 | 175 | 15 | 65 | 70 | 1647 | 250 | 100
? B26 THBEREHEARFRA A
%kEE Y Ningbo YiSheng Hydraulic Technical CO; LTD.

ESNOO



Valve

B 1] | Non-return-valve

S1

S2
\{ RVF-M-WD
( soc0of i i 2 HIWD % 3%
5o Vs | e (1509974)/
L f f E u | % 5 ORFSE i
— O/
L3 X L2
‘ % 4 THREAD R5f DIMENSIONS o | LfEED (ban
s % iz;lﬁ

PART NO. / "
Ti T2 DN | Dt | 1 |2 | 3| st | s2 | 7 M T‘(Sﬁgfﬂ

RVF-04MWD | 9/16” -18UNF | Mi2x15 | 35 | 14 [37.0| 10 | 8 | 17 | 19 50 400 | 250

RVF-06MWD | 11167 -16UN | M14x15 | 65 | 19 [48.5| 11 | 12 | 22 | 24 | 115 | 400 | 250

RVF-08MWD | 13/16” -16UN | Mi6X15 | 95 | 22 |57.0| 13 | 12 | 22 | 27 | 217 | 400 | 250

RVF-10MWD | 17 -14UNS M22x15 | 120 | 27 |64.5| 155 | 14 | 32 | 36 | 316 | 400 | 160

RVF-12MWD | 1.3/16” —12UN | M27x2.0 | 150 | 32 |69.0| 17 | 16 | 41 | 50 | 468 | 250 | 160

RVF-16MWD | 1.7/16” —12UN | M33x2.0 | 205 | 40 |77.5| 175 | 18 | 50 | 55 | 739 | 250 | 100

RVF-20MWD | 1.11/16” —12UN| M42x2.0 | 260 | 50 |85.0| 175 | 20 | 55 | 60 | 1000 | 250 | 100

RVF-24MWD | 2 —12UN M48x2.0 | 290 | 55 [85.0| 175 | 22 | 65 | 70 | 1596 | 250 | 100
? B27 THEREMNEEAFTR AT

WK EE Y

ESNOO

Ningbo YiSheng Hydraulic Technical CO; LTD.




B 1] | Non-return-valve

h RZ-M-WD
- S % WORFS¥ fii /
1 % 2% BIWD % 3(1809974)
% 4% THREAD RS DIMENSIONS THED (bar)
6 f 5 T
PART O T T2 on [ ot | v e | e st | s | M e T\(Si?é)iﬂl

RZF-04MWD | 9/16” -18UNF M12X1.5 3.5 14 | 35. 10 8 19 19 49 400 250

RZF-06MWD | 11/16” -16UN M14X1.5 6.5 19 | 48. 11 12 22 24 137 400 250

RZF-08MWD | 13/16” -16UN M16X1.5 9.5 22 | 52. 13 12 24 30 177 400 250

RZF-10MWD | 17 -14UNS M22X1.5 120 | 27 | 56. 155 | 14 32 36 208 400 160

RZF-12MWD | 1.3/16” -12UN M27X2.0 15.0 | 32 | 62. 17 16 41 50 300 250 160

RZF-16MWD | 1.7/16” -12UN M33X2.0 205 | 40 |78 175 | 18 50 95 751 250 100

RZF-20MWD [ 1.11/16” -12UN| M42X2.0 26.0 [ 50 | 86. 175 | 20 55 60 1108 250 100

(=2 el NG I el NG B el le) BN i) |

RZF-24MWD | 2" -12UN M48X2.0 29.0 [ 55 | 87. 175 | 22 65 70 1647 250 100

? B28 THEREBEREEAFR AT
0K & Ningbo YiSheng Hydraulic Technical CO; LTD.

ESNOO



T IF 7 Bk | Shut-off(isolating) valve

Valve

I R RCE N (S

[¢]
o TEx ok He Tgepw ST o= Es B o= om oW E
o ERm o= S Begs o gpRa S = == o=
ﬁ »L N— —_ = = H E _A.T_ 4 - wﬂ
Eie NBx B B == ¥ 55 my D il = ™
B oEHm =g B T .m Ty He - =
= Km .= Zm ¥ige T Esg == o R = R 5
B owmn =g =e Sgoo T Fel E= W omsoE o H
B2 4w % 1y BE L B S = = v K= B RHR K K
S o mEy Ba fn Jonm L Tey  ®x = oW = e B
= EEGy K Mo maz A e B BOoEHr & 2
w o Em B CFeeUaese 5 ™o = e = -
= Hige K. SsxToEs = gk = = R R o
R Y= g s oW o= = c22a B B =& UL W
- - = sbfm.\m“__H.Wu.IJ = o= = o ™z
iy L aR K EmaL R s = =5 °_ k =
= FEm ¥E  SweZmes g opom 0= HE A = =
T OE=Rs wmyn .F_.Jrﬁ.vAﬂm o oo B HREH R g .
Y o=xs == o e B Sl — B S = R U @ 58
B mmes Ee BooSaone = YDl S i omer w4 N
= mmg oweg FgoSoze D Exp o, m-TosEms @ owe O
= @ Emy cwmmElgms o Z¥x B R - == O
= Tom e E T e Emd IR o S o= = =
T odmy ®p Ko X T L R Rrm X wDEs , = o
= B LR 0== T IR g HEDEE = o £
o B owe EBo £ 4 IE —EE o
2 owam B D vy i =<z e B & b -
Sl ) o = 0 OE = = = . omE = = =
+ H=— ®Hs ==gus R - B = = S
= Bar o FEmafone L ome = ThkEL BB Z
By e BE Snaman o o = 5w e =5 ox
e R =R N = = - w0 FE_l<m fu . °F
= = S ER o= = B O omE . I = =R g
= Ber ®e  ZeaPesme I Jex= SR s W Ml
o= Fees =B EmirTmmm g ommk S syt o= -
= EE TE, U=E OkEr , x| 8BS SEa kT R LA
r Fam Sz NpElEsEC o5 pEE 0 SE= BMLE o H Ao = K
Omm NEs Temlxmss o o Rm S=g A Sl =y = =
O g m  HS K oowemE= - - = ol = SO - G~ , =
= BER K ._,ﬁmﬁﬂ.mlﬂ,._.Au:._ﬂ s pHEER mﬂm t.ﬂw.nmuﬂ - W%mn_h% M-
e B=x =R e S HEE (B = g TR e o o = -
fni=] = _ = = _ A = "= _.Ekﬁ SERIR ORE RR R = o E =B
= SR =8 ER_EKEE = < K _ <o BT Pl
b owE Bww PoeTaemies L mlos 0 oKy SEST OB o KpE o 2oLz
Rem e oo = =g M BUAEKIR 2K — i L B Moo= R
TREE om BRI TR me RS = = =
Tt Sem Me=%m e o =i B 4=t e EREC | & H . = -
Er cm frem Pammagoe L TZD ~io EEXD H & #g=a JHE— =
¢ﬁﬁ%ﬁ R Zie e i o = Q% o REE T hE R O B JMEH-EIE K
W e m Hpw FosSo—eo B RO o EERHBL SRR E _mm Tl X
=l o= Fa B s = =G =10 SR B oo B I 4 P 4
By Eee Soomon 02 S OBTR HoL 0 SESpaw Mestiem  ShmssEips
B S e TomS e o B K= IS I R R B e IR R R A D R
e Emer ®mem - o s O am | oy  EEEHE BT LSRR T
o= Ko BlaEr e B OEET o omo M= EoE T # FHREEERE
K= 1= E EE H u.n_._%.m._Lt RECE .. = N SR == — = _ o = H< i — 2
— o =T P HR eSS = — o #on 5 Bt mee 233 K " = 1O 4w BE EK < 1)
HpElmm - REITD 03 W me o ) = RK R i L2 ] B e K 5
£ e NP2 Gt L~ Sl S ! gma = DVIE R K E 52 - 20 =0 e 52
EXEE - X oE"T, OB _SNMEAKH-wm—x R e R B = e M B o i e e
+— I m = O & %"ﬂ = =1 Y = = HE=E 2 9 ERE EEH- = I = = ",l1ﬁmmm.n,17/ﬂmm"mﬁ
_ B = W\m Smﬁﬁ,uﬁb = OEE%DWWW#HHWEW,EE %WTEW,_.ME..\J WEVIFVE#\/\ “__H.qf\m.r[l\u\u‘ﬂu_dmm
HEEERE BT eT s IR KEeT piRptax” Daa = =TT TR T T i TR
BOBEE DR DR KEZREG K OET<Y BE I (CECCRSESESE 8 J eSS

Ningbo YiSheng Hydraulic Technical CO; LTD.

KeEERAGRAR
B29 THRBEREFEAREF] A

0K & B

T

ESNOO



Hﬂ Valve T IF 7 Bk | Shut-off(isolating) valve
KHB 7 51l 3 I
" ) __,_._.---f:l ™ :
Vi Bk
ik 7 ADIN 1S0 1219, 5 U 1 i i JF &
W R F W T B TR A .
L ¥ &R
Bx EAonE  Ba 3 HOMOZE  HE R KT R ) 93 % 0
BRI B fB, %50 KR
W36 TG 800
Bkig
” - WA
0 TE B TE KR T 9 E
o A N N ;\,)Hluﬁko
= i
il 1 R
i RIA BRI NRBHWE, L EA
_A¢7 a0 SFELEYE, UGRHEH, Hilk
Wiz, DAEEREDME R,
THTERAERN AN LR D,
KHBZ S — B MRS % mE B
KHB3K 7 51l 3 I
i Ty
P B
1 ADIN 2429, 79 14 B FE2 40338 & 3K W R F
WO T A B R
65 .
~ i e 5 00 o0 0K 05K OO R B, R
BX ENONE  HH mM RYORE M N YIS EET S TR Rl
\ A zm&%//@m KR T A 35 3 3Lk R
\ \ | /
\,\ \ '.IIII \\ | #:’ / / ﬂ?ﬂi B‘I m .
\ etz /. ///

TRBBERE2M3E B
mﬁmn A% a8k,
AERES,

N
—t— :r/j ‘ A YIE:

AT RWAERNRELHN, HUEALTELS

7 N4 N %, DERAEH, WHBEEHEE, BRTER

DREERY, SHTEBAERND AT LEE N

TEREREHEARGRAS

? 0K & B

ESNOO

B30

Ningbo YiSheng Hydraulic Technical CO; LTD.



Hﬂ Valve T 1E B R Bk i Shut-off(isolating) valve

m——]
S1
k\ | KHB-L
S . KHB-S
! ™
5 zl il 3 B4 /B 24
11 [T
! 77 - 9
N 1
— L2 -
L1
TR | B IO RS DIMENSIONS THEH ( ban
P8 " TUBE 0.D
ES ] m ik 7
" PART NO.
T D1 DN L1 L2 L3 L4 S1 B 4 (CP)
KHB-06L M12X1.5 6 4 67 | 40 13 32 26 500
KHB-08L M14X1.5 8 6 67 | 40 13 39 2 500
KHB-10L M16X1.5 10 8 74 | a2 17 | 40 34 500
KHB-12L M18X1.5 12 10 74 | a2 17 | 40 34 500
KHB-15L M22X1.5 15 12 82 48 17 40 34 500
L KHB-18L M26X1.5 18 12 g2 | 48 17 | 40 34 500
KHB-18LB M26X1.5 18 16 g2 | 48 19 | 46 38 400
KHB-22L M30X2.0 22 20 101 | 60 | 24 | 56 48 315
KHB-28L M36X2.0 28 25 108 | 64 | 29 | 63 58 315
KHB-35L M45X2.0 35 32 141 | 72 34 | 75 68 315
KHB-42L M52X2.0 42 40 62 | 80 | 40 | s6 80 315
KHB-06S M14X1.5 6 4 73 40 13 32 26 500
KHB-08S M16X1.5 8 6 73 | 40 13 32 2 500
KHB-10S M18X1.5 10 8 76 | 42 17 | 40 34 500
KHB-12S M20X1.5 12 10 80 42 17 40 34 500
KHB-14S M22X1.5 14 12 86 | 48 17 | 40 34 500
S

KHB-16S M24X1.5 16 12 90 | 48 17 | 40 34 500
KHB-20S M30X2.0 20 16 90 | 48 19 | 46 38 400
KHB-25S M36X2.0 25 20 109 | 60 | 214 | 56 48 315
KHB-30S M42X2.0 30 25 120 64 29 63 58 315
KHB-38S M52X2.0 38 32 153 | 72 34 | 75 68 315

ﬁr B31 FHREERAEERERAT
, iﬁ W ﬁ ﬁ ﬁ: Ningbo YiSheng Hydraulic Technical CO; LTD.



Hﬂ Valve T 1E B R Bk i Shut-off(isolating) valve

a0 KHB-G
i % I BSPP 1y 8 4/
— N o
: . # 1| BSPP [ 42 4
| —
- z.
=1
! : _r N ]I— 3‘
N !
L3 | L2 .
L1
e i 41 THREAD R~ DIMENSIONS LA KT (bar)

Fmfs

PART NO.

T1 DN L1 L2 L3 L4 L5 St f 8 (CF)

KHB-G02 G1/8" 1 69 40 10 13 32 26 500
KHB-G04 G1/4” 6 69 40 14 13 32 26 500
KHB-G06 G3/8” 10 72 42 14 17 40 34 500
KHB-GO08 G1/2" 12 83 48 16 17 40 34 500
KHB-G08B G1/2" 16 83 48 16 19 46 38 400
KHB-G12 G3/4" 20 95 60 18 24 56 48 315
KHB-G16 G1" 25 113 64 20 29 63 58 315
KHB-G20 G1.1/4” 32 110 72 22 34 75 68 315
KHB-G24 G1.1/2" 40 130 80 24 40 86 80 315
KHB-G32 G2 50 140 96 26 48 102 96 315

(I> THREBHAERARTRAA
RS2 0

] j B32 Ningbo YiSheng Hydraulic Technical CO; LTD.



I Valve

T 1E B R Bk i Shut-off(isolating) valve

KHB-NPT
S1)
T\ N ¥ NPT 88 5/
— NF— £ HINPT I 8 4
/ \ Y
-2
=y
3t S
NN
L3 L2 _
L1
e i 4 THREAD R~ DIMENSIONS THED (bar)
s
PART NO.
T DN L1 L2 L3 L4 L5 S1 B 0 (CF)
KHB-02NPT Z1/8" NPT 4 69 40 10 13 32 26 500
KHB-04NPT ZG1/4” NPT 6 69 40 14 13 32 26 500
KHB-06NPT 7G3/8" NPT 10 72 42 14 17 40 34 500
KHB-08NPT ZG1/2” NPT 12 83 48 16 17 40 34 500
KHB-08NPTB ZG1/2" NPT 16 83 48 16 19 46 38 400
KHB-12NPT 7G3/4” NPT 20 95 60 18 24 56 48 315
KHB-16NPT ZG1” NPT 25 113 64 20 29 63 58 315
KHB-20NPT ZG1.1/4” NPT 32 110 72 22 34 75 68 315
KHB-24NPT ZG1.1/2" NPT 40 130 80 24 40 86 80 315
KHB-32NPT ZG2" NPT 50 140 96 26 48 102 96 315
<|> B33 THEREBEREEAFR AT
ﬁ ﬁ ﬁ ﬁ H: Ningbo YiSheng Hydraullc Technical CO; LTD.

ESNOO




Hﬂ Valve T 1E B R Bk i Shut-off(isolating) valve

il KHB3K-L

} KHB3K-S

5|3, : o | | =l

_ " N [ Bt

R iﬂ.ﬁ%ﬁﬁ/

L7 5 Ui 2474

[y 1A
| rars 41 THREAD Eug;(';% R~ DIMENSIONS Ifbjfr)h
PART NO.

T D1 DN | L1 | L2 | L3 4 | 7| 8| st | BEECH
KHB3K-06L M12X1.5 6 4 67 53 13 32 35.0 ) 28.0 28 500
KHB3K-08L | M14X1.5 8 6 | 67 | 53 | 13 32 [35.0]280]| 28 500
KHB3K-10L | Mi6X1.5 | 10 8 | 74 | 60 | 17 40 |35.5|2.5| 35 500
KHB3K-12L | Mi8x15 | 12 10 | 74 | 60 | 17 40 |35.5|28.5| 35 500
KHB3K-15L M22X1.5 15 12 82 68 17 40 40.0 | 33.0 35 500
" [ KrBakoieL | mzexts | 18 12 | s2 | 67 | 17 10 |42.0|345| 35 500
KHB3K-18LB | M26X1.5 | 18 6 | 82 | 67 | 19 46 | 42.0 [ 34.5| 38 400
KHB3K-22L M30X2.0 22 20 101 86 24 56 52.0 | 44.5 48 315
KHB3K-28L | M36X2.0 | 28 o5 | 108 | 93 | 29 63 |53.5|46.0| 58 315
KHB3K-35L | M45X2.0 | 35 32 [ 12| 91 | 75 | 56.0|45.5| 68 315
KHB3K-08S | M16X1.5 6 4 | 3| 59 | 13 32 [37.0]30.0] 28 500
KHB3K-10S | M18X1.5 8 6 | 73 | 59 | 13 32 [37.0]30.0] 28 500
KHB3K-12S M20X1.5 10 8 76 61 17 40 37.5 1 30.0 35 500
KHB3K-14S M22X1.5 12 10 80 64 17 40 38.5 1 30.5 35 500
KHB3K-165 | M24x15 | 14 12 | 86 | 69 | 17 10 | 435|350 35 500
S [ kHBske20s | M3oxzo | 16 12 | 90 | 69 | 17 10 |45.5]35.0| 35 500
KHB3K-20S M30X2.0 20 16 90 69 19 46 45.5 | 35.0 38 400
KHB3K-255 | M36X2.0 | 25 20 | 100 | 85 | 24 56 | 56.0|44.0| 48 315
KHB3K-30S | M42x2.0 | 30 o5 | 120 | 93 | 29 63 |59.5|46.0| 58 315
KHB3K-385 | M52x2.0 | 38 32 | 153 | 121 | 34 75 |62.0|46.0| 68 315

? B34 THREBREZRERAT
ﬁ W ﬁ ﬁ ﬁ: Ningbo YiSheng Hydraulic Technical CO; LTD.

ESNOO



Hﬂ Valve T 1E B R Bk i Shut-off(isolating) valve

KHB3K-G

— K

5 | BSPP 1§ #2 41/

5 i BSPP 1y 42 41/ %

il BSPP 1 42 4L

e i 4 THREAD R~ DIMENSIONS TAEHE ) ( bar)
s
PART NO.
T1 DN L1 L2 L3 L4 L5 L8 S1 f 4 (CF)

KHB3K-G02 G1/8" 4 69 40 10 13 32 | 35.0 | 28 500
KHB3K-G04 G1/4” 6 69 40 14 13 32 | 35.0 | 28 500
KHB3K-G06 G3/8" 10 72 42 14 17 40 | 34.5 | 35 500
KHB3K-G08 G1/2" 12 83 48 16 17 40 | 40.0 | 35 500
KHB3K-G08B G1/2" 16 83 48 16 19 46 | 42.0 | 38 400
KHB3K-G12 G3/4" 20 95 60 18 24 56 | 49.0 | 48 315
KHB3K-G16 G1” 25 113 | 64 20 29 63 | 56.0 | 58 315
KHB3K-G20 G1.1/4" 25 120 | 64 22 29 63 | 58.5 | 58 315
KHB3K-G20B G1.1/4" 32 110 | 72 22 34 75 | 58.5 | 68 315
KHB3K-G24 G1.1/2" 40 130 | 80 24 40 86 | 67.5 | 80 315
KHB3K-G32 G2’ 50 140 | 96 26 48 | 102 | 70.0 | 96 315

? B35 FHERBREEARBRAT
R $ R Ningbo YiSheng Hydraulic Technical CO; LTD.

ESNOO



lﬁa Valve = jE B I® Shuttle valve

fEAHLERE, ZARMNEOTIRAYN, FHRKENRIDERT, BHFHOT2E
Mo R2ZMAS
These valves permit the passage of flow from elther inlet T1or T2 to the outlet port whill
shutting of the inlet port not in use . The shutting off, of an inlet is achieved by a floating ball
bearing which moves by the pressure of the flow.

I L1 L2 .

s —Nmfme——

|55

-
|
g
BRHM: DI D3MD2% [H
D2 D3 D1% I
1 B W, =
i . -40°C~+120°C
At W: BEEIPmaxT &5 #2000 it s 2
: 12 41 THREAD e Ay W74 R~ DIMENSIONS o e
5 PR TR RKTHIES
RAPT NO. = AL (bar)
T T2 T3 D13 L1 L2 L3 S1 S2
SF-AC-14 | M14x1.5 | M14x1.5 | M14x1.5 08 29 29 29 17 17 107 250
SF-AC-16 | M16x1.5 | M16x1.5 | M16x1.5 10 30 30 30 17 19 131 250
SF-AC-18 | M18x1.5 | M18x1.5 | M18x1.5 12 32 32 32 19 22 175 250
SF-AC-22 | M22x1.5 | M22x1.5 | M22x1.5 15 36 36 36 19 27 253 250

THREBAEEAFTRAT

? %kEE Y B36 Ningbo YiSheng Hydraulic Technical CO; LTD.

ESNOO




I1%] Valve

= jii # | Shuttle valve

fEAHLERE, ZARMNEOTIRAYN, FHRKENRIDERT, BHFHOT2E
Mo R2ZMAS
These valves permit the passage of flow from elther inlet T1or T2 to the outlet port whill
shutting of the inlet port not in use . The shutting off, of an inlet is achieved by a floating ball
bearing which moves by the pressure of the flow.

T
i e
3 1)
] ! /
i—_&/ | /ﬂ i
W ——— iy ks ———|
' N, A “
\
L2 A s = L2
B L1 L L1 _
WA W: DI D3MD2% A
D2 D3 D1% I
] B mll, =0
i §: -40°C~+120°C
Mt W mBEIPmaxT &9 200tk &
12 21 THREAD s | R DIMENSIONS
k8 * B T8 | RATHED
RAPT NO. o i/t (bar)
T Di-3 L1 L2 S1
SF-AF-04 9/16” -18UNF 6 21.5 10 17 135 250
SF-AF-06 11/16” -16UN 10 25.0 11 19 191 250
SF-AF-08 13/16” -16UN 12 28.0 13 22 278 250
(.) B37 TEREREHEAREGR AT
%kEE Y Ningbo YiSheng Hydraulic Technical CO; LTD.

ESNOO




%A1 Contact us

&

(F: RFRMBERATHRERERARGR2ANE, KFHREEX™ MMM X
i, THRE fﬁﬂﬂtﬁﬁﬁzﬂﬁJﬁEﬂﬁﬂijﬁﬁtHW@Eﬂ, Jea B R G VK O K — A B K
KF ﬂJ} M %P, #iE Wi, Note: the right of interpretation of this manual is owned
by Ningbo Yi Sheng hydraulic technology Co., Ltd.. The relevant data on the products
in this manual, Ningbo Yi Sheng hydraulic technology Co., Ltd. may make
corresponding amendments at any time, then will not be able to inform each
customer reading this manual, please forgive me. )

& % 7
TRRBEWRBA B DA FTBRBEDRREEIRNA
Hih: (86) 0574-56190760 Hif: (86)021-58996137
FEH: (86) 0574-56190762 FH: (86) 021-58996013
E-mail: baojunwu@shyswl.com
<|> FHEEREEABTRLAT
W 1k &% 0

Ningbo YiSheng Hydraulic Technical CO; LTD.
ESNOO



